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1 AW XS L1 YM—RGIN N4 3.200 6.150 9.350
2 N S L1 Yih—RG3ID N4 3.050 6.150 9.200
3 W ER HRROSTA ) =T n4 2900 6.200 9.100
4 Pl InE L1 Yih—RG3ID n4 2850 6.050 8.900
5 180 %= IBRAMN—S% XY —RG N4 2.350 5900 8.250
5 K% FiE FHY 2 ZPHFHIRIBIN—SK XS — I3 2.500 5750 8.250
7 LEH MR Wing&ZDEERG. N4 1.950 5.750 7.700
8 I\ Ex MITRG.Jr n4 2.150 5.300 7.450
9 P8 EiE MITHERDO ST N4 2.200 5200 7.400
9 JE/I LDE IRISZEZ#R.G N4 2.300 5100 7.400
11 MR D55 TWINS N2 2.050 5300 7.350
12 BB IME= IRISZEZ#R.G N4 2.250 4900 7150
13 28 8 MITRG.Jr n4 1.700 5350 7.050
14 S &% ETVYTIVLARG Jr. N4 1.400 5600 7.000
15 fefd B= WingZZDEERG. n4 1.250 5200 6.450
15 VA 2RZE TWINS N2 1.950 4500 6.450
17 FH #7F0 TWINS N3 1.300 4.800 6.100
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1 8 S L1 Yih—RG3ID n4 3.300 5650 8.950
2 B8ttt F&8 MITIRG N3 3.100 4850 7950
3 AW XB L1 YM—RGIN N4 2.900 4950 7.850
4 EH MR WingZ&ZDEERG. N4 2.700 5100 7.800
5 bl InhE L1 Yih—RG3ID N4 2500 4450 6.950
6 180 = IBRN—5% X5 —RG N4 2.000 4400 6.400
7 AW FER FRROSTA =T N4 2600 3.500 6.100
8 K¥ FiE FHY 2 ZPHFRIBIN—SK XS — I3 2.000 3.550 5550
O Pl Iz IRISZEZR.G N4 1.100 3.550 4650
10 WM B MITIRG.Jr N4 0.900 3.600 4500
11 FH 70 TWINS N3 0.500 2.850 3.350
12 AN D55 TWINS N2 0.700 1.900 2.600
13 VK 2kZE TWINS N2 0.400 1.750 0.30 1.850



